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1. Which of the following is a like term of 30pqg ?
(i) 5g (i) 5p (i) (=50pq) (iv) (=9pq) (v) 7

2. Which of the following is a like term of(—8tu2) ?

() (=tu?) (i) 92242 (i) u (iv) 18 (v) 9t

3. Which of the following is a like term of (—6h) ?

(i) (=7gh”%) (i) 892 (i) (—h2/2) (iv) 7h (v) (—4gi)

4. Which of the following terms can be added to(—2qrs) ?
(i) s (ii) 3rs (iii)) 2grs (iv) 9 (v) (=7r)

5. Which of the following terms can be added to(—fzst) ?

(i) (=9528) (i) (=st?) (i) r2st (iv) (=71 (v) 2rs®t

6. Which of the following terms can be subtracted from(—=5k) ?

(i) 54k (i) 7 (i) (=4/jk) (iv) (=5F) (v) (=3k)

7. Which of the following terms can be subtracted from(—4f2) ?

(i) (=57g%) (i) 3e2 (i) 6 (iv) 2”g% (v) (-5R)

8. Which of the following is a like term of(—cd2 b2) ?

(i) 9b2cd? (i) (=2b%2c2d) (i) (—=8bc2d) (iv) 6b%cd (v) 3bcd

9. Which of the following is a like term of (—4/2,;2) ?
() (—=4jk22) (i) (—4/2kl) (i) 3jk/ (iv) (=5/2k%) (v) (—3jK2))
10. Which of the following terms can be added to(—6yxz) ?

() 2x%yz (i) Txyz® (i) 6xy%z (iv) 8xyz (v) (—xy2Z%)

11. Which of the following terms can be added to(—9xw2y2) ?

(i) 3w?x2y2 (i) (=3w2xy?) (i) (—8wx2)2) (iv) (—dwxy) (V) Swxy?
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Which of the following terms can be subtracted from 5 e?fd??

(i) (=5d%ef?) (ii) (—def L(iii) (=90%e2A (iv) (=20d%e2R) (v) (—4def)

Which of the following terms can be subtracted from(—9k/j'2) ?

() (—d4jkl) (i) (—=5/jk?) (i) (—6/2k%/2) (iv) 572kl (v) 52K/

Which of the following is a like term of 7g ?
(i) (=9qnr) (i) (=3r) (iii) 6pg (iv) (—pqgr) (v) 4q

Which of the following is a like term of 3u ?

() (=2) (i) 4u? (i) (=5u2v2) (iv) 5uv (V) (—u)

Which of the following is a like term of 3ni% ?

(i) 2h” (i) 2 (i) 3A%i (iv) (—=TH%7%)) (v) (—5h%2)

Which of the following terms can be added to(—-5¢) ?
(i) (=2) (ii) 74 (iii) 5de (iv) 2cd (v) (=2e)

Which of the following terms can be added to(—5 W2) ?

() 9 (i) y2 (i) 3w2x% (iv) (=3w?2) (v) (-6W2y)

Which of the following terms can be subtracted from(-7m) ?

(i) (=2mno) (ii) 7mn (ii) (=7) (iv) 8m (v) (—=8no)

Which of the following terms can be subtracted from(—9q2/2) ?

(i) 272 (i) grls (i) 6g%2F2 (iv) 6g2%s? (v) (=392

Which of the following is a like term of 4uv2 2 ?

(i) 222uv? (i) (=8tuv) (i) (=282uv) (iv) (—=6£202Vv) (v) (=282u%V2)

Which of the following is a like term of nfom?

(i) (=mn?0) (i) (=4mno?) (iii) 2m?no (iv) (=9mn202) (v) (—=4m?no?)

Which of the following terms can be added to4gpr?

(i) (—pgr) (i) (=3p2¢%n (i) 3pg?r (iv) 2p%qr (v) (=2p%q?r?)

Which of the following terms can be added to 6mi2n?

(i) (=4Im?n) (i) (=8P mn?) (i) (—=4/mn?) (iv) 8/mn (v) 9P mn



25. Which of the following terms can be subtracted from(—7y22x) ?

(i) 7xy22% (i) 4x2yz (i) 6xy%z (iv) 3x2y%2z (v) (=5xyz%)

26. Which of the following terms can be subtracted from 3n202m??

(i) (=6mn202) (i) 9mno (i) 4mn?0 (iv) 9mno?® (v) (=9m?n?0?)



Assignment Key

1) (iii) 2) (i) 3) (iv) 4) (iii) 5) (iii) 6) (v)
7) (v) 8) (i) 9) (iv) 10) (iv) 11) (ii) 12) (iii)
13) (iv) 14) (v) 15) (v) 16) (i) 17) (v) 18) (iv)
19) (iv) 20) (iii) 21) (i) 22) (i) 23) (i) 24) (v)
25) (v) 26) (v)
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